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PART - III
Geugluiwer/ CHEMISTRY
( 3O wHmb e su@‘/ Tamil & English Version)
sne ierey : 3.00 wexfl Grpw | [ Qurss wHLGUETSET : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

Sleyenyast : (1)  Dmanssg elenméa@sd swrsl ufeurd o drangr aerugamen sflLTTssié
Qsmererayb. SiFaiLHaler Gapulmlider, siens sararaiuumerib
o L angwings OsflelasayLb.
2 Beob ooegy sELY owvtoa LLECL  awWssHED
Sl EGamHeugH@Gb LwauBSs Ceuam@b. ULRSHE umyausnsE
Quenfléd LweTL@ESeyD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

@GPy : Ceameuwner GLHd UL aueyhgl FoaUNHEMET GT(PSaLb.

Note : Draw diagrams and write equations wherever necessary.

U@&S - I/ PART - 1

GOuY : (i) Smensg damssErsEn elamwelssab. 15x1=15
(i) Qar@Essi(Hérer wrHm) st safled Waayd epLenLw aflenL_enwig
Coipg(hsg1s GPIL L oL ameanbd Gaisg arpseb.
Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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1. @CamGymeumib, eplfls oifeoss e edoeanlbs smaug :
(1) GCanGrm GéMen (<) epl Gy QLmgyeSen

(@) &CamGyr YV&Ms beid (FF) anpl Gy Safafler

Chloroform reacts with Nitric acid to produce :

(a) Chloropicrin (b) Nitro toluene

(c) Chloropicric acid (d) Nitro glycerine
2. Gzmgqud & Csflasiu@ns.

(<=1) weire e el (=) < sanmed

(&) rgsi () i

Sodium is stored in .

(a) Kerosene (b)  Alcohol

(c) Ether (d) Water

3. soysder Feuan® LIFeue S(WPEES®S (1) S FETLT(H

(1) mv=nRT (<) "RT=n
(@) m=nRT () Qeupiled erglevenen
Osmotic pressure (w) of a solution is given by the equation :
(a) 7v=nRT (b) @wRT=n
() w=nRT : (d) none of these

OH

| Y .
4. CH;—CH-CH,—CH=CH-CH; Gsfiogglen IUPAC Guwi :

(=1) Qan&ev — 2 — Frer — 4 — ped (<=4) Qaméav —4 — FreiT — 2 — 60
(®) Qandev—2 — Frei — 4 — jed () Qandev —4 —rer — 2 — 36
The IUPAC name of the compound

OH

|
CH3-CH-CH,-CH=CH-CHj :

(a) hex-2-en-4-ol (b) hex-4-en-2-ol
() hex-2-en-4-al (d) hex-4-en-2-al
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5. -1 eleaeflenar s (Heug) :
(@) -cl (@) =Br (@) (=) wpmid (<) () —CH,g
-1 effect is shown by :
(a) =Cl (b) -Br (c) both (a) and (b) (d) —CHj,

6. Ueaumaaauppeda asfldaflcr (C,H,) sramiu@b sriuea ssaissdnE Fwwmen
sriuer sgeigdms AupmieTarg) g ?

(1) Quénéen (<) yriaSen (&) msCgan () moamsen

Which of the following compound has percentage of Carbon same as that in Ethylene
(CoHy) ?

(a) Benzene (b) Propene (c) Ethane (d) Ethyne

7. senfflar [D,0] Qardflana

(1) 3754 K (=) 373.4 K (®) 376.2K (FF) 3744 K
The boiling point of heavy water [D,0] is
(a) 375.4K (b) 3734 K (c) 876.2 K (d) 374.4K

8. Aemeumeuameupmiat eTgl GeuliL @uidsedle) &Ly e ?

(=1) eren_Gyma (=) =18 Y DHmed

(@) 2ymisey HDe () erengmedd
Which of the following is not a thermodynamic function ?
(a) entropy (b) internal energy
(c) frictional energy (d) enthalpy

9. weniphlen pH w0 :

(=1) 5.6 (=) 6.5 (@) 46 (%) 7.5
The pH of Normal rain water is : . -
(a) 5.6 (b) 6.5 (c) 4.6 d) 7.5

[ H@riys / Turn over
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WSTeuaITaDDIET Gy GioLiqd g QubmieTerg erg ?

- ()
@ U (™) (=) wpmid (at)

‘Which one of the following is aromatic ?

- 0 O
(c) @, (d) both (a) and (b)

n=3 GTaiID (PJHETENLDE GEUTEHTL LD GTEHT6n T QU BEGID <ML L_Téd &6 e

. Quongs ararailsems :

(=1) 5 (=) 9 (@) 7 (r) 8

The total number of orbitals associated with the Principal Quantum Number n=3

is :

(@) 5 ® 9 () 7 (@ 8
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saDOI (A) 1 EANmen edamm LTI ssH s Qandm_g).
&N76wID (R) : oygehn Genanriil] Wodmp QracLrdd Grarh salss
STRHLITesr sreiubdemmer.

(1) SDOI (A) ol yaned snemtd (R) gaug.

(<) SOOI (A) wHYID SryewTDd (R) @ran (b & Gogyid sMewId (R) 4ang) Sadm)
(8) -&&nem sflwunar clanssib <yEw.

(@) spmi (A) wHpID snyewid (R) @rer(id saug.

(7) syl (A) LHDID Syewmd (R) @ram@Lb &l Syenme smewiid (R) a5 Sabm)
(A) -&&nen sflwner eQergawdm.

Assertion :  Oxygen molecule is Paramagnetic.

Reason : It has two unpaired electrons in its bonding molecular orbital.

(a) Assertion is true but reason is false.

(b) Both assertion and reason are true and reason is the correct explanation of
assertion.

(c) Both assertion and reason are false.

(d) Both assertion and reason are true but reason is not the correct explanation
of assertion.

Sl arar 222 - QsrawrL geaflingder IUPAC QUWIT erenaneuns @mEEL0 ?
(=) didibium (<4,) bibibijum (@) bibibium (r) bididium
What would be the IUPAC name for an element with atomic number 222 ?

(a) didibium (b) bibibiium (c) bibibium (d) bididium

g Qeuliu, AWss Hoeole, e GHUEALL arydda lreysd s,
epLgmand smig@itb 0.5 L kIE A& aafle) S&E@H AL aumyefar Gumam
Beop

(<) 114 gmol~! (&) 112gmol~! (@) 120 gmol~! (/) 110 gmol~!

An unknown gas diffuses at a rate of 0.5 times that of Nitrogen at the same
temperature and pressure. The molar mass of the unknown gas is

(@) 114gmol~! (b) 112gmol™! (c) 120gmol~! (d) 110 gmol~!

[ Spliys / Turn over
www.kalviexpress.in



www.kalviexpress.in

6722 6
15. Gaflips Bl & T LI 6T = 6 L = <4, 85 69 610 (5) aumyeilen semrdlmener ereuaITm
<fsNsseomd ?
(=) SipsssHaman Do) (<) san wiarefavar HsMsE)
(@) wwsssfmar oifsfgg () @aupler ggllcvency
Solubility of carbon-di-oxide gas in cold water can be increased by :
(a) decrease in pressure (b) increase in volume
(c) increase in pressure (d) none of these
UG - I / PART - 11
SBluy : stemeuGuign)id DI HaTTSsEHsE, ellenLweféseyd. elerm ereioer 24 -6
6x2=12

sL_L_nuwons; ellenL_wieflGseyLb.

Note : Answer any six questions. Question No. 24 is Compulsory.

16. &8xCGammid WwHmb A ESgen O&sD — Caumu®ss:s.

Distinguish between oxidation and reduction.

17. Qamwiseuirégde Bléswnng semenio Camlum’ yemens sams.

State Heisenberg’s Uncertainty principle.

18. unffev snpgefear Liwsnsamers CNICES

Mention the uses of Plaster of Paris.

19. &S-sr’aSlwiler 555 60u5Hmans FaM)G.
State Le-Chatelier principle.

20. seugy®h ureue DRSS — euenTLmIEHeLD.

Define Osmotic Pressure.
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22.

23.

24.

Gy : semauGued s damssEnss oorwalssab. dlam aar 33 -5

Note :
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Gearaumaiaauping @A) LML aImTs,
(i) H,0 (ii) HNO,
Draw the Lewis structure for :

(i)  H,0 (ii) HNOj,3

QfC&-Armil. efeaemwls upd Hn GOILY (PSS,

Write short notes on Friedel Craft’s Reaction.

s66T WIELESHSET e datan ? OSSN0 SBS-

What are Particulate Pollutants ? Give example.

6722

0°C Qaiufleowde 1 Gurd ualss g Sims eGED Curg Heww e Grmd

orhns®ss sarsd(s. uallssiyWar Gurort e mEGse Ceuliu wdy

6008 J mol 1.

Calculate the entropy change during the melting of one mole of ice into water at
0°C and 1 atm pressure. Enthalpy of Fusion of ice is 6008 J mol™ 1,

L@ - Il / PART - III

sU_Lmuwns alewafléseab.

6x3=18

Answer any six questions. Question No. 33 is Compulsory.

25. safigCanpp e (pepude Waneaumb ellamansaa swe Qs

(i) KMnO,+Na,SO; — MnO,+Na,SO,+KOH

(ii) Cu+HNOz; — Cu(NOj),+NO,+H,0

Balance the following equations by Oxidation Number Method.
(i) KMnO,+Na,SO; — MnO,+Na,SO,+KOH

(i) Cu+HNO; - Cu(NO,),+NO,+H,0

www.kalviexpress.in
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26.

27.

28.

29.

30.

31.

32.

APHRTEOD GeuTaTLLd Grar Lifhf S @Hliy euers.

Write short notes on Principal Quantum Number.

el Qsrim9emear efleufésayib.

Explain the Diagonal Relationship.

umym epanLrene ereucumy 4 igCam AL TGS LOMHDIGUTL ?

How do you convert Para hydrogen into Ortho hydrogen ?

BeSWedL) eumyé Famum e au(maeq.

Derive Ideal Gas equation.

Blenevganiyger wHnID euflFemiyjaer TEDITEd GTaten ? @) yaRT(h) THESIGST_(H&6T
S(HS.
What are State and Path Functions ? Give two examples.

CoH;Cl erehip gpavdonm eumiiun® o epiuwi (A) erenp Gemod $Aw KOH o 1_gy
eflevenyfibg (B) eremm Ceifogengub, <ydsanmd shg KOH o L e aflenan s
(C) erem Geiiwgamsu|b smdamer. (4), (B) wpmid (C) -g& sarTLNs.

An organic compound (A) with molecular formula C,HClI reacts with aqueous
KOH and gives compound (B) and with alcoholic KOH gives compound (C). Identify
(A), (B) and (C).

grewLeh elenemency s@GHE THSFIEST () &gl eflang s,

Explain inductive effect with suitable example.
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33. Spss@rL. GEiDMSERHE SIEDUL| QUMHILITLE®L T(HEIs.

i) m-or @plCrr Quender

(ii) p-eoL GGG Quenes

(iii) 1,3,5 - yery QuwgHe Quendern

Write the structural formula for the following compounds.

(i) m-dinitro benzenc

(i) p-dichloro benzene

(iii) 1,3,5 trimethyl benzene

u@$ - IV / PART - IV

SO : Semenss elamssErs@h e waflésa. 5x5=25

Note : Answer all the questions.

34. (=) saflo uELUMiedd g Gambb KWaTaBID Sre|semar SMAmg). Na=14.31%,
S$=9.97%, H=6.22%, 0=69.5%. GeTwgdaicrer amanl Foer ppaugibd,
&A@ e Csibg ugs Brms QmsApg aafle, CarosHear apasamn
aumniur_en_& sres. (Ceingder apasamm Hap 322)

VNN
(=) (i)  Quared gelismss sogleusSmans samis.
(ii) pelienr Yeurssen mﬂ@mu_lé;\ DS

(a) A compound on analysis gave Na=14.31%, S=9.97%, H=6.22%, 0=69.5%.
Calculate the molecular formula of the compound, if all the Hydrogen in the
compound is present in combination with Oxygen as Water of Crystallisation.
[molecular mass of the compound is 322]

OR
(b) (i) State Pauli Exclusion Principle.

(ii) State Modern Periodic Law.

E [ muys / Turn over
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35.

36.

37.

(@) () gCsnGLniiysd (orpdwurised) eaprd eaer ? @aplrgefer
gCenGLiysefen Quuitsamer TP,

(i) srOuwigd e LWIGTE@®ETS &(m.

SIV6Vg)
(<) QuraTLiT qurrédav womfledlsanars Qaran® Hlanciomy wrlelsmens Sbedl.
(@) (i) What are Isotopes ? Write the names of Isotopes of Hydrogen.

(ii) Give the uses of Calcium.
OR

(b) Derive the values of Critical Constants in terms of Vander Waals constants.

(1) Qautin Quissefweien Qrearmb e9dulen vGeum sapmsmens dnmis.
B 3|60V

() () Peop srés Ofemwis F MG,

(i) Qanerm 698 uder QUIDL|&ET Wmeney ?
(a) State the various statements of Second law of Thermodynamics.

OR

(b) (i) State law of Mass Action.

(i) What are the limitations of Henry’s Law ?

(=) epevsamm <A Lnd Qameransulen P&EU SybsrisemeT eleuflEsayib.
360605
(=) (i) &M CS&r'rLorr'ua;aﬂ_a&r Qungs LT ger FCsaib pemdener T(PEIS.
(i)  Qemeumdb Carisailer o drer eflenarQewich QAsr@Hulenans SarTL_la.

(A) AL Lmebig aman ()
(B) &em60lé iflevid
(C) oL Gwsde mgi
(D) Qusdé Ser

S S
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Explain the salient features of Molecular Orbital theory.

(a)

OR
(b () Give any three characteristics of Organic compounds.
(ii)  Find the functional group of the following compounds.

(A)  Acetaldehyde
(B) Oxalic acid

(C) Dimethyl ether
(D) Methylamine

38. (@) Quenfen imwlieu Lp efleufgaayLb.
TRV
(=) (i) CHzMgl -uléh Qgm_risd) é]&reu@mmmﬁ)mm ereueunmy swirfiiiumd ?
(A) addler yesanmad
(B) SflLmdgman®
(C) adled Qusde mgit
(ii) gnibg Gurse (Eutrophication) erempme) creman ?
(a) Explain the structure of Benzene.
OR
(b) (i) Starting from CH;Mgl, how will you prepare the following ?
(A) Ethylalcohol
(B) Acetaldehyde
(C) Ethyl methyl ether
(i) What is Eutrophication ?

-00o0-
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